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Thompson, Evans, & Campbell, 2013)
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Copeland & Radvansky, 2004)
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2009)
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All of the dentists are painters.
All of the painters are bicyclists.

Therefore, some bicyclists are
dentists.

All of the dentists are painters. pLEA S E i 3
All of the painters are bicyclists. —EXBHH{%U%EE [EI = 7 - /f X

Therefore, some bicyclists are dentists.

Does the conclusion logically follow
from the information given?
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Figure 2. The trial progression for Experiment 1.




D2 —=

Models Anchoring Models Anchoring
Answer Answer
Fluencvy Fluencv
FOR FOR
| I
¥
Re-answer Re-answer
Choices Choices
(a) Hypothesis A (b) Hypothesis B

Figure 1. Flowcharts depicting two hypothesized paths of FORs in the current experiments.
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Figure 3. Mean FORs in Experiment | as a function of anchor, model and validity. Error bars
represent standard errors.
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Figure 4. Probability of re-answering in Experiment 1 as a function of anchor, model and
validity. Error bars represent standard errors.

> RIGKE O GEF(EIE OFiGTE) I 2 v» TORER
H—x7L (M=1449, SD=0.79) > #EEF1(M=16.70, SD=0.96)
TV H—DKREXIEA RT ICHEL 5 2 7 (F(1, 40) = 1.266, p = .267, np2 = .031)

[~ S S A N
N B OO 0 O

M Single
O Multiple

Mean Composite RT (s)
=
o

o N B O

Low High Low ‘ High

Valid Invalid

Figure 5. Mean composite RT for Experiment 1 as a function of anchor, model and validity.
Error bars represent standard errors.
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Table 7

Number of Syllogisms in Each Condition for all Four Experiments

Single. Fluent  Single. Disfluent Multiple. Fluent Multiple. Disfluent

El 476 421 435 477
E2 556 R 449 545
E3 568 422 426 556
E4 377 435 437 564
Total 2177 1722 1747 2142
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General discussion
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